> restart:

> with(plots):

> xmin := -5:

> xmax := 5:

> ymin := -1:

> ymax := 11:

> f := x -> 2^(-x): f(x):
X-coordinate of  Points:

> pt1 := 0: pt2 := -1: pt3 := -2: pt4 := -3: pt5 := 1: pt6 := 2: pt7 := 3:
> xax := plot( [ [xmin-1,0], [xmax+1,0] ], x=xmin-1..xmax+1, y=ymin-1..ymax+1, color=black, thickness=2, axes=none):

> yax := plot( [ [0,ymin-1], [0,ymax+1] ], x=xmin-1..xmax+1, y=ymin-3..ymax+1, color=black, thickness=2, axes=none):

> hl := n -> plot( [ [xmin,n], [xmax,n] ], color=gray, axes=none):
> vl := n -> plot( [ [n,ymin], [n,ymax] ], color=gray, axes=none):
> gphl := display( seq( hl(n), n=ymin..ymax ), scaling=constrained ):
> gpvl := display( seq( vl(n), n=xmin..xmax ), scaling=constrained ):
> tptxax := textplot([xmax+1.25, -0.5,`x`, font=[TIMES,ITALIC,15]],align={Right}, axes=none):
> tptyax := textplot([-0.25, ymax+1, `y`, font=[TIMES,ITALIC,15]],align={Left}, axes=none):
> tptcr := textplot([xmin+1.85, ymin-2,`Created by James D. Anderson`, font=[TIMES,ROMAN,11]],align={Right}, axes=none):
> tptwp := textplot([xmin+0.9, ymin-2.8,`www.math.utoledo.edu/~anderson/1320`, font=[TIMES,ROMAN,11]],align={Right}, axes=none):
> gp := display( xax, yax, gphl, gpvl, tptxax, tptyax, tptcr, tptwp ):
> nftd := 6:
> ss := 15:
> ppt1 := plot (f(pt1), x=pt1-0.1..pt1+0.1, color=black, thickness=28):
> gppt1 := display( gp, ppt1 ):
> ppt2 := plot (f(pt2), x=pt2-0.1..pt2+0.1, color=black, thickness=28):
> gppt2 := display( gp, ppt1, ppt2 ):
> ppt3 := plot (f(pt3), x=pt3-0.1..pt3+0.1, color=black, thickness=28):
> gppt3 := display( gp, ppt1, ppt2, ppt3 ):
> ppt4 := plot (f(pt4), x=pt4-0.1..pt4+0.1, color=black, thickness=28):
> gppt4 := display( gp, ppt1, ppt2, ppt3, ppt4 ):
> ppt5 := plot (f(pt5), x=pt5-0.1..pt5+0.1, color=black, thickness=28):
> gppt5 := display( gp, ppt1, ppt2, ppt3, ppt4, ppt5 ):
> ppt6 := plot (f(pt6), x=pt6-0.1..pt6+0.1, color=black, thickness=28):

> gppt6 := display( gp, ppt1, ppt2, ppt3, ppt4, ppt5, ppt6 ):
> ppt7 := plot (f(pt7), x=pt7-0.1..pt7+0.1, color=black, thickness=28):
> gppt7 := display( gp, ppt1, ppt2, ppt3, ppt4, ppt5, ppt6, ppt7 ):
> pfr := n -> plot( f(x), x=0..n*xmax/ss, y=ymin..ymax, color=black, thickness=3):
> pfl := n -> plot( f(x), x=0..n*xmin/ss, y=ymin..ymax, color=black, thickness=3):
> pmov7 := n -> piecewise(n>=0 and n<nftd, gp, n>=nftd and n<2*nftd, gppt1, n>=2*nftd and n<3*nftd, gppt2, n>=3*nftd and n<4*nftd, gppt3, n>=4*nftd and n<5*nftd, gppt4, n>=5*nftd and n<6*nftd, gppt5, n>=6*nftd and n<7*nftd, gppt6, n>=7*nftd and n<8*nftd, gppt7, n>=8*nftd and n<8*nftd+ss, display( gppt7, pfr(n-8*nftd+1) ), n>=8*nftd+ss and n<8*nftd+2*ss, display( gppt7, pfr(ss), pfl(n-8*nftd-ss+1) ), n>=8*nftd+2*ss, display( gppt7, pfr(ss), pfl(ss) )  ):
> display( seq( pmov7(n), n=0..9*nftd+2*ss ), insequence=true, scaling=constrained);
> 
